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TRUCTION : Please cherk that OMR Answer Sheet Mo, and Duestion Booklet No. match with each piher. i they do not
atch immedintely replace the Question Booklet and OMR Answer stiest. Candidate should fill the correct Quastion Booldet Mo, in
ONiRk Answer Shest,

Instructions 1o Candidates

Read the following instructions carefully before you answer the guestions. Answers are o be SHADED on a

SEPARATE OMR Answer sheet given, with a BB pencil. Read the Instructions printed on the (JMR sheet

cavefuily before answering the questions,

1. Please write your Hall Ticket No. very clearly {only one digit in one block) on the OMR Answer sheet as given
in your admission card. Please see that no block is left unfilled and even Zeros are correctly transferred 1o
the appropriate blocks an the OMR Answer sheat, For all the subsequent purposes, your Centre Code No.
and other details shall remain the same as given on the Admission Card.

2. Paper-i (Mental Abilityl consists of 100 guestions {Q. Nog 1 to 100}

. All questions carry one mark each.

4. Since all questions are compulsory, do not try to read through the whole question paper before beginning

to answer it.

. Begin with the first question and keep trying one guestion after ancther till you finish all the questions.

6. If yau do not know the answer ta any question, do not spend much time on itand pass on to the next one. if
time permits, you can come back to the questions which you have left in the first instance and try them

again,

7. Since the time allotied to the question paper is very limited, you should make the best use of it by not

’ spending too much time on any question.

8. A blank page is provided for rough work at the end of question paper.

g, REMEMBER YOU HAVE TO SHADE ANSWERS ON A SEPARATE OMR ANSWER SHEET PROVIDED.

10, Answer to sach guestion is to be indicated by SHADING the circle having the number of the carrect
alternative in the OMR Answer sheet fram among the ones given for the corresponding guestion in the
hooldet.

11, Now turn to the next page and start answering the questions.

12, The GMR Answer sheet consists of two copies, the ORIGINAL COPY and the CANDIDATE'S COPY. Do not

separate or displace them. Do not darken the bubbles in two coples of OMR Answer sheets separately.

(o8]

[

After the examination, you should hand over the original copy of OMR Answer sheet to the invigilator of
the roor and can take away the Candidate's copy of OMR Answer Sheet with them,

13, The candidate need aot return this Question Paper hooklet and can take it after completion of the
examination. Mo candidate should leave the examination hall before the end of the examination.
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Direction: In Question nos. 110 5:

Seimns letters are given in Column § and some digits are glven in
Coturnn B, Each dight of Column U represents any letler o
Column L Siudy the colurmns and write the alernative fatfer
after  chovsing  the correct  allernative  agalnst  the
sorresponding yuestion.

Cotumn — TColurmn ~ 1

HEUHY 50372

CHAD 55084

LDYVEH 37862

DYRVH 18364

HAGH BEZ9L

CEIDY 5738

HEKDY 14628

LDOKG 4THRY

KYDHUC 19485

BARHI H2980

1. Thecodefordis .
w2 @3
® 0 @4
2. Thecodefor Cis .
1y 3 2y 5
13 6 @2
3 ThecodeforYis __
{1 3 21
3) g 417
4 TheecodeforDis .
o 27
3y 3 4] 8
6 ThecodeforGis .
{1 4 & 2
@6 8

Dirpction: In Question nos. 6 to 45:

The following gquestions consists of two sets of
figures. Figurgs A, B, € and D consiitute the
problem set while figures 1, 2, 3 and 4 constitute
the answer sel. A Definite relationship exists
hetween figures A and B. You are required to
establish 2 similar relationship between figures C
and D by choosing a suitable figure D from the
answer set.
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e |pirection: in muemw nos. 16 10 2
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Jon 105 28 to 50,
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& CWrist o Belt : Waist 43
0} Armw {2) Bend
{3) Bracelet {4} Hand

34 Rook:Chess:: : Badminton 44.
{4} Tennis {2 Swing
3) Grass {8 Shuttlecock

3. Ruby:Red::Sapphire: 45
{1 Blye ) Green
3) White 4} Black

% Lytology:  ::Geclogy : Rocks 148,
{4 Cells {2] psychology ‘
3} Cyclones 1 Pharmacology
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Bir, siion: in Q“?w On nps, 341
Tt four terms in each question. The term
Pig Q

term of the lefl 1o the symbol
71 is Missing, which 15 among one

y 40:

ere ai
St f\/fﬁb(}% M

four altermatives. Find the

give

; Anthem
1 Act

1
4] Scene

_Play 1 Sing

4 150
&) ors

/V?m;. it in
lcorresponding guestion number.

your

345-2=13
{3} x=
2 .
=73 I

1x7+13=5%
{1} sew -
3) +4=

2=11+
{1} =4 -

3 +

3x19

-39
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][ Bire i:i:iﬁsa" in Question nos, 41 to 50 :
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.i‘}immmﬂ: Iy Question aos, 51 1o $0:

out of the four figures (1), {2), {3), {4) given in{
ipach guestion, three are similar in & certain way,F
[Choose the figure which is different from the
other figures. I

51
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....... N
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| Direction: In Question nos. 51 te 70 !
Hin each of the following questions, a letter series i:;;'
given, In which some letters are missing. The
imissing fetters are given in the proper sequence
a5 one of the alternatives. Find the correct;
lalternative. |

6. A B _BA_AB_BA
{11 ABBA

3 BaRs

{2} ABAR

{4 ABAA

153862

62 ABA _BACA _BA _BACAABAC _ACA
{8} CACB {2} coaB

{8) ABCB “ CABC

63 A_CDAAB CC_ DAA _BBB _CCDDD

2] BBDAC

{4} DBBCA

PR
1) BDBGA

3 BDDCA

6. A CA BC BCC BCA
) BABA {2} BRAA
{3) AARB ) BBAB

. A_CBABC_CB_AB ¢
{1} ABAB 2) BACA
8} ACAB @) CABA

6. A_BBC _AAB CCA BBCC
1) BACSH {2) ACBA
{3) ABBA 4 CABA

6. BAA_AABR_A A _BAA
{1} ABABA {2) BABAR

13) AABBA W ABAAB
6. ABCA_BCAAB _CA_BBC A

) COAA {2} ABAL

3) ABBA ) BBAA

6. AA_BBB _CCAAAB _BC _C
{1 CeBB {2 8cec
13) BBCC ) ACBC

0. A CC_AAB _CB
(1) BCAB 2] AABC
3) BBCA 4] ABCA

}i‘:ﬁi‘rm:}té‘a}m in Ouestion nos. 71 to 80:
[In the number series given below, one number is
imissing. Fach series is followed by four
[aﬁ:emaﬁ\/es {1, 42), {3) and {4). One of them is the
{right answer, tdentify and indicate it as per the

“Instructions”.

78, 24,12,36,18,54,

75 888, 440, 216, 104, 48,

waz 12 27
3} 39 {4) 35

4} 24 {23 26
{3} 20 a) 28

7410, 26, 74, 218, 650,
{1} 1956
8] 1950
5. 11,23, 48,99, | 408
{1 201 2} 202
{3) 205 W 200
0,7, 06,63, 124,215, -
1] 323 {2 295
{3} 305 {4) 347
OB7,6,59,3,12,1,18,
i 18 R T
{33 -3 4} 13
78 4,9,18,39,79, —
{1) 169 {7} 139
13) 118 @) 159
7. 77,91, 105, 119, 133, 161, o
{1} 193 2} 175
3] 203 i 189
2. 7,10,8 11,912,
) 16 ® 14
3} 13 4} 10

{1} 108 2 27
1 68 4 72
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estion nos, 83 to 85,

Biraction 1 Gu
Read the
given be

{ow ;

{iIThey are ABCD FEandE,
{ilThere are two married couples.
{ili)Bis an engineer and the father of £

|
f
!

{V)F is the paternal grandfather of ¢ and is a

doctor,

[VID is the paternal grandmother of £ and is a

f housewife,
|

(viThere is one engineer, one doctor, one |86,
teacher, one housewife and two students in the

tamity.

couples ?
1 ED and CF
31 F and BA

20 FD and ¢A
(&) FD and BE

52 Who among the foilowing members are the

males ?

BB Fand o 2] Fand D

8) B, Fand A {4} Band r
8. Who is the sister of £ 2
KA {2} Data inadequate
3) A 4} ¢
B4 Who is the husband of A ?
e {2} B
8 r 4] F

85. What is &’ profession »
1) Student

) Housewife or teacher

2} Teacher

) Housewife

following and snewer the guestions|:

Thére are six barsons in the family of Mr. M urty /

81 Which of the following are the two married |

|Birection: In Guestion nos, 86 to 90: !
Read the following  information carefully and|
1swer the guestions that follow |
There are six cities.
i
ii

Theyare A, B, C, D, £ and . |
JATs a historical place and not a hill station.
1B and F are not historical places.

WD s not a twin oity,

VIA and B are not alike,

vilD is not a historicat city.

[

|

‘I‘ Which city is a hill station and a twin city but
! not a historical place ?

IR {2y ¢

3 n 4 B

187 Which two cities are twin cities ?
W cande

2} Band F

3 Band ¢ 8 Eand A

8 Which two cities are neither historical vlaces
; nor twir cities 7
I W BandD

3} AandF

2 Aand®
4 Bandk

i
[8‘) Which two cities are hil stations ?

| W Aandr @) Aands

I B Eandp ) Aandp

i

9. Which two cities are historical places ?
| {1} Aandc 2 Fand D

B Aand p B poandr

Diraction: in Ouestion nos, 91 ¢y 160 !
jiin these questions, numbers are placed in the!
[figures on the basis of some rules. One place ss
acant, which is indicated as “?. Find out the!

L correct alternatives 1o replace the ‘question mark!
ey, ‘

Loy s v 7

J 7@5’ x(:\% 6{:”;)4

i 6 7 s

| i) 3 2} g
3} 2 g

) | 2
52, 4 \
12 /’( AN a
Z 4 t A
7 9t i )
1]
£33 11 @9
121 o
[t 4
3 ¢

1) 15
@) 14 {4} 13
S B KL
4 i)
94, S, s . ’f\}/
{1 ) ’(\jj)“ U
3 3 >
AN D) @2
8} 28 4l 24
5 v 3
95 \
% /)\ N
5 3 2 3 4 7
a5 7 8
) 6 7
6. | v 5
108
3
5] N
0y 215 2] 1944
8 36 “ 1
57, 16 1 49
y [s]
3 \\ L
P «zv\“\\
) 49 2} 56
) 84 4) 0g

88,

a8

106

= 4
4 3 ;
AN
/\ FAAN /\\
g A /
{ 12 :
i} 32 {2} 28
3 73 41 30
32135439
4) b 46 1S
IR
) 50 o
31 14 @ 0
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